Bl T |lo || w | N|o|o|o|[88
BFM| O | DI E2IN|IN|IN|[Es
B XN| | M| > | |[d|dm (47 (=R
X H|lm|o|lO||lO|g|g]|lgt
ol | |2 2|22 |&C
251522 >|:z2
$E| M O  Migo|d|d||z2&
B 4| P ~ | 2| =|m|m §E 1:100 N
10| Q=S| m|lSsS || ||® D
| < > | ® = | m | m
: 30|88 |=2|= ~
i} m| o £ |=|C|C 2
| O |F — S
r c|=z=|0
= - [ S
™ b
~ A4
(@
S
S
3
5
a 3 &7
o & @ 0.00 1.05]| 27.56| 28.61[ 28.61]Istn. studnia = -
o = ~ Proj. wigczenie do kanatu @300, Rz.d.=27.56 =
2
Gaz., Rz.0.=28.89
&
S Kabel telek.
&
5 ié")
o n 55.20 3 1.84] 30.05| 31.89[ 31.89 [ Studnia bet. 1200 . =\
X | 173 30.16 )
8
S
5
8
Skrzyzowanie z proj. WD @160, Rz.0.=31.71
4 S
P S [ g
[Te)
o 107.89 3 1.49| 33.26[ 34.61] 34.75] Studnia bet. 1200 A\ &
o @ o Proj. wigczenie kanatu .N1 @160, Rz.d.=33.41 - 2
2
&
Skrzyzowanie z proj. WD @160, Rz.0.=33.47 ©
S
ol
& o
it
N Skrzyzowanie z proj. WD @160, Rz.0.=35.19
(00]
» |a
o ® 159.27 o)) — 1.27] 36.21| 37.39( 37.48 [ Studnia bet. 1200 - ,
3 5
R g5
Kabel telek. 2 g
. 5 3
N8
5 S s
o1 - 3
w 8 ==
S 8
S &
s £
@ 5 B
T a Kabel telek. 38
o o | 196.80 3 177 37.49| 39.07| 39.26 | Studnia bet. 1200 AW T &
o
4 g
N
Kabel telek.
S
I
S
a ',3
o w 240.92 3 231| 38.81| 40.76[ 41.12 | Studnia bet. 1200 .
[o2)
@
X
&
r
&
5 ﬁ
) o 286.36 3 334| 39.95[ 43.10] 43.29] Studnia bet. 1200
/E = ® = Proj. wigczenie kanatu .N2 @300, Rz.d.=39.95
5 N |\
4 & Q1 |5
'$' wn 302.02 o & 2.67| 4152 4390 44.19 | Studnia bet. 1200
0} w & .
N
N
S Kabel telek.
R
>
T N Kabel telek.
n 328.26 3 1.93| 43.54| 4524 45.47 [ Studnia bet. 1200
0} o =
&=
S
o Skrzyzowanie z proj. KD @200, Rz.d.=44.27
2
]
5 'g
G 0 353.86 3 193| 4467 46.43| 46.60 | Studnia bet. 1200
S} o Proj. wigczenie kanatu .N3 @160, Rz.d.=44.72
g
=
3
N Kabel telek.
T 3 Studnia bet. 1200
~0 @\ 378.63 3 156 46.14( 47.71[ 47.70 | Proj. wigczenie kanatu .N4 @160, Rz.d.=46.19 \
= ~ Skrzyzowanie z proj. KD @200, Rz.d.=45.96
o
o Kabel telek. = %
N ST~
= s R
. -]
~ B
T ? 2 Kabel telek. Ss
q % 405.93 3 149 | 4748 48.64[ 48.97 [ Studnia bet. 1200 = g g
K N - Proj. wigczenie kanatu S25 2200, Rz.d.=47.48 \ s 3 o
Q Skrzyzowanie z proj. KD @315, Rz.d.=46.69 e g = i
= 8 =
§ Skrzyzowanie z proj. WD @160, Rz.0.=47.38 & S
S - Kabel telek. m © %
T ®© Skrzyzowanie z proj. KD @200, Rz.d.=48.12
{ 0| 42424 8 198| 47.84| 49.22| 4982 [Studnia bet. 1200 e —\
g w - Proj. wigczenie kanatu S29 2200, Rz.d.=47.84 - "
] Likw wod. miejski 3
2 Gaz. 763 & 2z
9 Skrzyzowanie z pro]. KD @315, Rz.d.=47.50 °
< E Skrzyzowanie z proj. WD @110, Rz.0.=48.82
q % 443.56 N~ 245] 4811 50.61[ 50.56 [ Studnia bet. 1200 =)
Q\ > ) 2.04] 4852 Proj. wigczenie kanatu .N14 @160, Rz.d.=48.61 '\ . o
S Gaz. @63 3 2
&
]
& Skrzyzowanie z proj. KD @200, Rz.d.=49.77
w | 46886 250| 49.03| 5150| 5153 | Studnia bet. 1200 A\ A
0] br ® = 1 B
N .
o ?
o S
9 |—
1
w
T oo Skrzyzowanie z proj. KD @200, Rz.d.=51.35
b 4 ) 50123 © 345| 49.67] 53.30| 53.12] Studnia bet. 1200 kask. wewn. - - )
/Q o =3 ' Proj. wigczenie kanatu .N15 @160, Rz.d.=50.97 2
— =
5 N - N
a E 3 Dg
. 0 519.40 345| 50.04] 5355| 53.49] Studnia bet. 1200 kask. wewn. A . & 3
= Proj. wigczenie kanafu S30 @160, Rz.d.=51.34 AR = 3
Proj. wigczenie kanatu .N16 @160, Rz.d.=51.74 =
Likw kan. san.
Likw wod. miejski x
R Skrzyzowanie z proj. WD @50, Rz.0.=52.15 7 \\ *
g Skrzyzowanie z proj. KD @200, Rz.d.=52.18
2
P S ﬁ
—d 0 548.00 3 335| 50.61| 53.78| 53.96]| Studnia bet. 1200 kask. wewn. \ — £\ &
5 - Proj. wiaczenie kanatu .N17 @160, Rz.d.=52.01 = 1 =
2
] 2
=]
R
+ = Skrzyzowanie z proj. KD @200, Rz.d.=52.63
H @\ 573.70 3 3.35] 51.02| 53.93[ 54.37 Studnia bet. 1200 r - -
A © = Proj. wigczenie kanatu .N18 @200, Rz.d.=51.02 b
I =
2 z
S
LA
[o2]
Skrzyzowanie z proj. KD @200, Rz.d.=53.29
8
5 8
—0 [ 626.03 3 3.33| 51.90| 54.95[ 55.23 ] Studnia bet. 1200 o —
S — Proj. wigczenie kanatu .N19 @160, Rz.d.=51.95
D
S
Skrzyzowanie z proj. KD @200, Rz.d.=53.84
5
8
5
a %
o Y 673.35 3 3.53| 52.68| 55.90[ 56.21 [ Studnia bet. 1200 -
= =
QU P I A \
o [ 682.19 &\ 3.02] 52.82| 55.84[ 55.84]Istn. studnia = r
N
@ o = o
% 21 B 3.
5 || gl g| 2
) gl
5 B
5 &
g1 T
Q| =
21528l e| @
9 (‘@ (e N| = ~
HEAREIH R o
SERERE 5| ¢
=5 |88 Q| s
2 2 = o)
Q| =
olg |21 2N | @
elz|2El o8| <=
§ - g gl ¢ £, é
=13 |2| =
| 3| %15 )
R
g = g o
g o | B
ES = =}
3| e
=
N (2]
X ®
Blgl]| |3 g
S| 3 I >
s g o
i
5
o
Bl ©
=
o
o
o

LT

(162

(11,901~

oLl

€2




